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Part One MCQ

Q1:- Find the arc length of the portion of the iniall (g Jsh sl
curve

y=3x+2,0<x<2
a)

Q2: - setup.a¥ integral for the arc length il e J gl cay oA el s
3
y=4x2 ,1<x<2,

2
a) S=f\/1+36xdx
1

2
Sznf\/1+6x2dx
1
2

3
S = 8nfx§\/1 + 36xdx

1

2
S = J\/I + 36x2dx
1

\ g

set'ub-an integral for the arc length il (g J gl g (o) Jalsil) i)
y=x3,-1<x<1,

1
S = f\/1+9x4dx
-1
1
S = lel + (x3)2dx
-1
1
S=m f\/1+9x4dx
-1

1
S = J\/l + 3xtdx
-1
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set up an integral for the arc length el e J gl a6l Jalsil) s

- 4o
y=Inx ,1<x<3,

3
=f\/1+lnx2dx

1
3
1
= 1+—2dx
X

Q5:- setup an integrzl for the arc length el g J gl a3l Jalsil) S|

- 50
T
y=tanx,0SxSZ,

v 1+ sec*xdx
Vv1+ secxdx
T
4
S n-[\/1+seczxdx
0

T
4

S J\/1+tan2
0

Set up the integrdl for the surface area Y siall auaall Ladaull daliall Crusy AlbGaSI )
generated.b¥ revolving about x — axis X osall Jsa Ginially saraall ddbaid) gl ) 92 e
y=x3-4x,-2<x<0,

-6

0

S = fn(x3—4x)w/1+(3x2—4) dx

-2
0

S = on(x3—4x) 1+ (3x2—4)dx

-2
0

S = fﬂ(x3—4x) 1+ (3x% —4)%dx

-2

= j 2m(x3 — 4x),4/1 + (3x% — 4)2 dx
22
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Set up the integral for the surface area prenall Andand) Aaliall Canny (2] ASal) S
generated by revolving about x — axis dsn (aially soaadl dakiall ()53 (ye A siall

X oyl
T
Yy = COS X ,OSxSE,

S = | 2m(cosx) 1+ sin?x dx
S = | m(cosx)+/1+sin?x dx

S = | 2n(cosx)? dx
S =] 2n(sinx) 1+ sin? x dx

Set up the integral for the surface area el L dasall Aalisdll Cuny (1 JalSl) i)
generated by revolving about x — axis Jsa el saaad) d3hidll Gl 53 (e A sial)
X oyl

y=sinx ,0<x<m,

T

S=f4n(sinx)\/1+cosx dx

0
s

S= J(sinx) V1+cos?x dx
0

Vs
S = f 2n(sinx) /1 + cos? x dx
0

T

S = f 2m(cosx) 1+ cos? x dx
0
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Set up the integral for the surface area sl puaall Ladaudl) Aalbisadl uvsny 3l GRS - 29
generated by revolving about x — axis X ol don (Aatally sasaall Aibaiall gl 50 e

y=4x ,1<x<2,

2

S=27Tf4xv1+16dx

1
2

S=7Tf16x2 1+ 16x2 dx

1
2

S=7Tf4x 1+ 4x2 dx

1
2

S=27Tf16x2\/1+16dx

1

T L R T <
generated by revolving about x — axis X Dsall dsa (iatally Baanal) Aikaiall )52 G

y=x%,0<x<1,

1
S=2nfx2\/1+2x2dx
0
1
S=27rfx2\/1+4x2dx
0
1
S=2nfx2\/1+x2dx
0

1
S=27rjx2\/1+2xdx
0

Q11:- Arope is to be hung between two poles 60 13) yie 60 Legin Adbusall 3 gae G lae el - 1110w
meters apart. If the rope assumes the shape intall g5 da JE) o\

of the catenary
X X

y =15 (€30 + €730 ),~30 < x < 30

compute the length of the rope.
30

a) §= f(es’x_0+e;_g)dx
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Q12:- A rope is to be hung between two poles 13 yie 40 Legin Adlusall (30 gae G Glae @l - 1120
40 meters apart. If the rope assumes the el S A, JSall g8
shape of the catenary

X _x
y = 10(e20+e 20),—20 <x<20
compute the length of the rope.

a) S=20e—e Hm

S=20(t-e)m

S=10(e—e Hm

S=40(e—e Hm
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Part Two FAQ

Q13:- Find the arc length of the portion of the el G Jsha o)
curve

X
f(x)=f\/t2+4t+3dt, 0<x<2
0

Find the arglength of the portion of the aiall s Jsha aa )

curve
y=+1—-x2,0<x<
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Q15:- setup an integral for the arc length il (g J gl caeny (g3 Jalsill i) - 115

1l 11 1<x<2
y—4x 2nx, <x<2,

Q16:- LetS be the surface area generated by dahadll o) g0 (e B giall Andandl Aabiall § oS3 - 1160
revolving the bounded region about x — X e Jea Baaadl)
axis

y=f(x), a <x<b
h

s = Jkan\/1+36x2 dx ,

a
Find value of k

Best washes
Glaiail) el
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